15-411: Induction Variables

Jan Hoffmann



Example

Check if an array is sorted

bool is_sorted(int[] A, int n)
//Qrequires 0 <= n && n <= \length(A);
{
for (int 1 = 0; i < n-1; i++)
//@loop_invariant 0 <= i;
if (A[i] > A[i+1]) return false;
return true;

¥



is_sorted(A, n) :
190 < 0
goto loop(ip)
loop(71) :
to+<—n—1
if (i1 > tg) goto rtrue
t1 < 4 %14
to +— A+t
t3 < M[tg]
tg — 11+ 1
ts < 4 xty
tg — A+ ts
t7 <— M[t(;]
if (t3 > t7) goto rfalse
19— 11+ 1
goto loop(iz)
rtrue :
return 1
rfalse :
return 0

Translation to SSA Form

(without array bound checks)



is_sorted(A, n) :
190 < 0
goto loop(ip)
Basic induction loop(i1) -

variable tho < n—1
if (i1 > tg) goto rtrue

1 < 4 il
to < A+ t1
t3 < M[tg]
ty <11 +1
l5 < 4 ta
tg < A + 15
t7 < M[t(;]
if (t3 > t7) goto rfalse
19 <11 +1
goto loop(iz)
rtrue :
return 1
rfalse :
return 0

Translation to SSA Form

(without array bound checks)



is_sorted(A, n) :

i() +— 0
goto loop(ig)
Basic induction loop(iy) :
variable to < n—1

if (i1 > tg) goto rtrue

to +— A+t
tg%M[tQ]

ts < 4%ty
tg — A+ ts
t7 < Mltg]
if (t3 > t7) goto rfalse
19— 11+ 1
goto loop(i2)
rtrue :
return 1
rfalse :
return 0

Translation to SSA Form

(without array bound checks)



A first optimization is_sorted(A, n) :
10 < 0O
goto loop(ig)
loop(i1) :
to+—n—1
if (i1 > tg) goto rtrue
t1 < 4 x 19
to <— A+t
t3 < M[tz]
tg <— 11+ 1
ts < 4 x1y
tg — A+ t5
t7 < Mtg]
if (t3 > t7) goto rfalse
19— 11+ 1
goto loop(i9)



A first optimization is_sorted(A, n) :
10 < 0O
goto loop(ig)
loop(i1) :
to+—n—1
if (i1 > tg) goto rtrue
t1 < 4 x 19
Common to < A+ 1
subexpression ts < Mto]
elimination ty <— i1+ 1
applies b < 4%ty
tg — A+ t5
t7 < Mtg]
if (t3 > t7) goto rfalse
19— 11+ 1
goto loop(i9)



A first optimization is_sorted(A, n) :
10 < 0O
goto loop(ig)
loop(i1) :
to+—n—1
if (i1 > tg) goto rtrue
t1 < 4 x 19
Common to < A+ 1
subexpression ts < Mto]
elimination t, <
applies b < 4%ty
tg — A+ t5
t7 < Mtg]
if (t3 > t7) goto rfalse
19 11 + 1
goto loop(i9)



A first optimization is_sorted(A, n) :
10 < 0O
goto loop(ig)
loop(i1) :
to+—n—1
if (i1 > tg) goto rtrue
t1 < 4 x 19
Common to <— A+t
subexpression ts < Mto]
elimination ty <P
applies ts < 4ty
tg — A+ t5
b7 < Mte] Preserve
if (t3 > t7) goto rfalse induction
19 o1 + 1 variable i
goto loop(i9)



is_sorted(A,n) :
10 < 0
goto loop(7g)
loop(i1) :
to<—n—1
if (i1 > tog) goto rtrue
t1 < 4 %17
to <— A+t
tg 4— M[tg]
ta — 7 + 1
ts < 4 %ty
tg +— A + t5
b7 < M[t(;]
if (t3 > t7) goto rfalse
19 < 1y
goto loop(i2)



is_sorted(A,n) :

10 < 0
goto loop(7g)

loop(i1) :

to<—n—1

if (i1 > tog) goto rtrue
t1 < 4 %17

to <— A+t

tg 4— M[tg]

ta — 7 + 1

b <— 4 x4

tg +— A + t5

b7 < M[t(;]

if (t3 > t7) goto rfalse
19 b4

goto loop(i2)

is_sorted(A, n) :

190 < 0O
goto loop(igp)

loop(i1) :

to+<—n—1

if (i1 > tg) goto rtrue
1 < 4 % 11

to <—— A+ 14

tg <— M[tz]

19— 11+ 1

iy < 4 % 19

tg — A+ t5

b7 4— M[tg]

if (t3 > t7) goto rfalse

goto loop((22)



Consider induction

variable t1
t1 <+ 4 x 11

ldea: compute t1 from a
previous iteration of t1

Introduce new variable
j = 4%

is_sorted(A, n) :

10— 0
goto loop(ip)

loop(i1) :

to+—n—1

if (i1 > tg) goto rtrue
t1 « 4 %14

to +— A+t

t3 < M[tz]

19 +— 11 + 1

ts < 4 %19

tg — A+ t5

b7 4— M[t(;]

if (t3 > t7) goto rfalse

goto loop(i2)



Consider induction iS—SOFFed(A»n) :
variable t1 10 < 0
t1 < 4 %1 _ @ensures jo = 4 * i
goto loop(io, jo)

Idea: compute t1 from a  [I66p(it;ji) + Qrequires j; = 4 * i1
previous iteration of t1 to+—n—1

if (i1 > tg) goto rtrue
Introduce new variable e Qassert j1 =4 x 1
j = 47 to < A+ t1
t3 < M[tg]
19— 11+ 1
Jo < 4xip Qensures jo = 4 * 19
ts < 4 % 19
tg — A+ t5
t7 4— M[t6]
if (t3 > t7) goto rfalse
goto loop(iz, j2)



is_sorted(A,n) : is_sorted(A,n) :

10 < 0 10 < 0
Jo < 4 x 1 Jo < 0 Q@ensures jo = 4 * i
goto loop(ig, jo) goto loop(io, jo)
loop (i1, j1) : loop(21,J1) Qrequires j; = 4 * 11
tlo+—n—1 ?0 % n—1
if (i1 > to) goto rtrue if (i1 = lo) goto rtrue | |
t < J1 t1 <N Qassert j1 = 4 * i1
to < A+t to — A+t
t3 M[tg]
t3 < M[tg] : :
. 0 12 <11 + 1
2.2 o —l_. J2 — 71 +4 @ensures jo = 4 * 19
J2 < 4 x i ts < 4 % is
ts <= 4 12 te < A+t
t6%A—|—t5 M%M[tﬁ]
t7 < Mltg] if (t3 > t7) goto rfalse
f (t3 > t7) goto rfalse goto loop(i2, j2)

goto loop(i2, j2)



is_sorted(A,n) : is_sorted(A,n) :

10 < 0 10 < 0
Jo < 4 * 19 jo <0 Qensures jo = 4 * i
goto loop(ig, jo) goto loop(io, jo)
loop (i1, j1) : loop(21,J1) Qrequires j; = 4 * 11
tlo+—n—1 ?0 % n—1
if (i1 > to) goto rtrue if (i1 = lo) goto rtrue | |
t < J1 t1 <N Qassert j1 = 4 * i1
to < A+t to — A+t
t3 M[tg]
t3 < M[tg] : :
. 0 12 <11 + 1
2.2 o —l_. J2 — 71 +4 @ensures jo = 4 * 19
J2 < 4 x i ts < 4 % is
ts <= 4 12 te < A+t
t6%A—|—t5 M%M[tﬁ]
t7 < Mltg] if (t3 > t7) goto rfalse
f (t3 > t7) goto rfalse goto loop(i2, j2)

goto loop(i2, j2)

j0:4>l<’i0:0



is_sorted(A,n) : is_sorted(A,n) :

10 < 0 10 < 0
Jo < 4 * 19 jo <0 Qensures jo = 4 * i
goto loop(ig, jo) goto loop(io, jo)
loop (i1, j1) : loop(21,J1) Qrequires j; = 4 * 11
tlo+—n—1 ?0 % n—1
if (i1 > to) goto rtrue if (i1 = lo) goto rtrue | |
t < J1 t1 <N Qassert j1 = 4 * i1
to < A+t to — A+t
t3 M[tQ]
t3 < M[tg] : :
. 0 12 <11 + 1
2’2 —u —l_. J2 71 +4 @ensures jo = 4 * 19
J2 < 4 x 1 ts < 4 % ig
ts <= 4 12 te < A+t
t6%A—|—t5 M%M[tﬁ]
t7 < Mltg] if (t3 > t7) goto rfalse
f (t3 > t7) goto rfalse goto loop(i2, j2)

goto loop(i2, j2)

jo=4xig =0 Jo=4xig =4 (i1 +1)=4xi1+4=7j1+4



is_sorted(A,n) :

10 < O

Jo < 0

goto loop(ig, jo)
loop(i1, j1) :

to+—n—1

if (i1 > tog) goto rtrue

t1 < 1

to +— A+t

t3 < M[tz]

19— 11+ 1

J2 < J1+4

ls <— 4 % ig

tg < A+ s

t7 M[t6]

if (t3 > t7) goto rfalse

goto loop(is, j2)



is_sorted(A,n) :
10 < O
Jo < 0
goto loop(ig, jo)
loop(i1, j1) : Loop hoisting
to+—n—1
if (i1 > tog) goto rtrue
t1 < 1
to +— A+t
t3 < M[tz]
19— 11+ 1
J2 < J1+4
ls <— 4 % ig
tg < A+ s
t7 M[t6]
if (t3 > t7) goto rfalse
goto loop(is, j2)



is_sorted(A, n) :

is_sorted(A, n) : g < 0
10 < 0 Jjo < 0 @ensures jg = 4 * 19
70 < 0 o< n—1
goto loop(%g, jo) goto loop(ig, jo)
loop(i1,J1) : loop(%1,J1) : Qrequires j1 = 4 * i3
to+—n—1 if (i1 > tog) goto rtrue
if (i1 > tog) goto rtrue to +— A+ J;
1 < j1 t3 < M[tQ]
to +— A+t 19— 11+ 1
ts < Mts] jo < j1 + 4 Q@ensures jo = 4 * i9
io iy + 1 te < 4 % io
J2 <1 +4 tg < A+ 15
ts < 4 x 19 t7 < M |tg]
tg +— A+ t5 if (t3 > tv) goto rfalse
t7 < M|t goto loop(iz, jo)

if (t3 > t7) goto rfalse
goto loop(iz, jo)



is_sorted(A,n) : is_sorted(A,n) :

10 < 0 10 < O
90 < 0 790 < 0 @ensures jog = 4 * i
to+<—n—1 to<—n—1
goto loop(ig, jo) goto loop(7g, jo)
loop(i1, 1) : loop(i1, j1) : Qrequires j1 = 4 * i1
if (i1 > tog) goto rtrue if (i1 > tg) goto rtrue
ta <— A+ 71 ty < A+ 1
tg <— M[tg] t3 A M[tQ]
19 +— 11+ 1 19 +— 11+ 1

jo < ji + 4 j2 < j1 +4 Qensures jo =4 x4z

to A+
t7 4— M[t(;]

t7 < Mltg] if (t3 > tv7) goto rfalse
if (t3 > t7) goto rfalse goto loop(iz, j2)
goto loop(iz, j2)




is_sorted(A,n) :

10 < 0

j() +— 0

to+—n—1

goto loop (%9, Jo)
loop(i1, j1) :

if (i1 > tg) goto rtrue
ta A+

t3 < M[tg]

19— 11+ 1

J2 <~ J1+4

tg < A+ 712

7 < M[tG]

if (t3 > tv) goto rfalse
goto loop(is, j2)



is_sorted(A,n) :

10 < 0

Jo <0

goto loop (%9, Jo)
loop(i1, j1) :

if (i1 > tg) goto rtrue

e A+

t3 < M[tg]

19— 11+ 1

J2 <~ J1+4

tg < A+ 712
if (t3 > tv) goto rfalse
goto loop(is, j2)



is_sorted(A,n) :

10 < 0
70 < 0 @ensures j9 = 4 * 19
_ @ensures kg = A + jo
to<—n—1
goto loop(io, jo, ko)
loop(i1, j1, k1) : Qrequires j1 =4 %11 ANk = A+ j3

if (i1 > tp) goto rtrue

t3 < M[tQ]

19— 11+ 1

Jo +— j1 + 4 @ensures jo = 4 % 19
_ Qensures kg = A + jo
te < A+ jo

t7 < Mltg]

if (t3 > t7) goto rfalse

goto loop(iz, jo, k2)




is_sorted(A,n) : is_sorted(A,n) :

10 < 0 10 < 0
Jo < 0 jo < 0 Qensures jp = 4 * ig
ko < A+ j0 ko +— A @ensures kg = A + jo
to<—n—1 to+—n—1
goto loop(io, jo, ko) goto l0op(io, jo, ko)

|OOp(i1,j1, kl) X |OOp(i1,j1, ]ﬂ) : @requires jl =4 %11 A
if (i1 > tg) goto rtrue if (i1 > tp) goto rtrue
to < k1 t3 <— M[lﬁ]
tg%M[tQ] 19— 11+ 1
19 11 +1 Jo — 71+ 4 @ensures jo = 4 * 19
J2 <1+ 4 ko +— k1 + 4 @ensures ko = A + jo
ko +— k1 +4 t7%M[]€2]
te < A+ Jo if (t3 > t7) goto rfalse
t7 < Mltg) goto loop(iz, j2, k2)

if (t3 > t7) goto rfalse
goto loop(iz, j2, k2)



is_sorted(A,n) : is_sorted(A,n) :

10 < 0 10 < 0
Jjo < 0 Jjo < 0 Q@ensures jg = 4 * 19
ko < A+ j0 ko +— A @ensures kg = A + jo
to<—n—1 to+—n—1
goto loop(io, jo, ko) goto loop(io, jo, ko)

|OOp(i1,j1, kl) X |OOp(i1,j1, ]ﬁ) : @requires jl =4 %11 A
if (i1 > tg) goto rtrue if (i1 > tp) goto rtrue
to < k1 t3 <— M[kl]
tg%M[tQ] 19— 11+ 1
19— 11+ 1 Jo +— 71+ 4 @ensures jo = 4 * 19
J2 <1+ 4 ko +— k1 + 4 @ensures ko = A + jo
ko +— k1 +4 t7%M[]€2]
te < A+ Jo if (t3 > t7) goto rfalse
t7 < Mltg) goto loop(iz, j2, k2)

if (t3 > t7) goto rfalse
goto loop(iz, j2, k2)
One more round of constant

propagation, dead code elim.,
and CSE



is_sorted(A,n) : is_sorted(A,n) :

10 < 0 10 < 0
Jjo <0 Jjo < 0 Q@ensures jg = 4 * 19
ko < A+ j0 ko +— A @ensures kg = A + jo
to<—n—1 to+—n—1
goto loop(io, jo, ko) goto loop(io, jo, ko)

|OOp(i1,j1, kl) X |OOp(i1,j1, ]ﬁ) : @requires jl =4 %11 A
if (i1 > tg) goto rtrue if (i1 > tp) goto rtrue
to < k1 t3 <— M[kl]
tg%M[tQ] 19— 11+ 1
19— 11+ 1 Jo +— 71+ 4 @ensures jo = 4 * 19
J2 <1+ 4 ko +— k1 + 4 @ensures ko = A + jo
ko +— k1 +4 t7%M[]€2]
te < A+ Jo if (t3 > t7) goto rfalse
t7 < Mltg) goto loop(iz, j2, k2)

if (t3 > t7) goto rfalse
goto loop(iz, j2, k2)
One more round of constant

propagation, dead code elim.,
and CSE



is_sorted(A,n) : is_sorted(A,n) :

10 < 0 10 < 0
Jjo <0 Jjo < 0 Q@ensures jg = 4 * 19
ko < A+ j0 ko +— A @ensures kg = A + jo
to<—n—1 to+—n—1
goto loop(io, jo, ko) goto loop(io, jo, ko)

|OOp(i1,j1, kl) X |OOp(i1,j1, ]ﬁ) : @requires jl =4 %11 A
if (i1 > tg) goto rtrue if (i1 > tp) goto rtrue
to < ki ts < M|k1]
tg%M[tQ] 19 <11 + 1
19— 11+ 1 Jo +— 71+ 4 @ensures jo = 4 * 19
J2 <1+ 4 ko +— k1 + 4 @ensures ko = A + jo
ko +— k1 +4 t7%M[]€2]
te < A+ Jo if (t3 > t7) goto rfalse
t7 < Mltg) goto loop(iz, j2, k2)

if (t3 > t7) goto rfalse
goto loop(iz, j2, k2)
One more round of constant

propagation, dead code elim.,
and CSE



is_sorted(A,n) : is_sorted(A,n) :

10 < 0 10 < 0
Jjo <0 Jjo < 0 Q@ensures jg = 4 * 19
ko < A+ j0 ko +— A @ensures kg = A + jo
to<—n—1 to+—n—1
goto loop(io, jo, ko) goto loop(io, jo, ko)

|OOp(i1,j1, kl) X |OOp(i1,j1, ]ﬁ) : @requires jl =4 %11 A
if (i1 > tg) goto rtrue if (i1 > tp) goto rtrue
to < ki ts < M|k1]
tg%M[tQ] 19 <11 + 1
19— 11+ 1 Jo +— 71+ 4 @ensures jo = 4 * 19
J2 <1+ 4 ko +— k1 + 4 @ensures ko = A + jo
ko +— k1 +4 t7%M[]€2]
te +— A+ jo if (t3 > tv) goto rfalse
t7 < Mltg) goto loop(iz, j2, k2)

if (t3 > t7) goto rfalse
goto loop(iz, j2, k2)
One more round of constant

propagation, dead code elim.,
and CSE



is_sorted(A,n) :

10 < 0

Jo <0

k() — A

to<—n—1

goto loop(i. jo, ko)
loop(i1, ji1, k1)

if (i1 > tg) goto rtrue

t3 < M[lﬁ]

19 <— 11+ 1

J2 < J1+4

ko +— k1 + 4

t7 < M[kg]

if (t3 > t7) goto rfalse

goto loop(isa, jo, k2)



is_sorted(A,n) :

10 < 0

Jo <0

k() — A

to<—n—1

goto loop(i. jo, ko)
loop(i1, ji1, k1)

if (i1 > tg) goto rtrue

t3 < M[lﬁ]

19 <— 11+ 1

J2 < J1+4

ko +— k1 + 4

t7 < M[kg]

if (t3 > t7) goto rfalse

goto loop(isa, jo, k2)

j1, 2, and j3 are no
longer needed.



is_sorted(A,n) :

10 < 0

Jo <0

k() — A

to<—n—1

goto loop(i. jo, ko)
loop(i1, ji1, k1)

if (i1 > tg) goto rtrue

t3 < M[lﬁ]

19 <— 11+ 1

J2 <71 t4

ko +— k1 + 4

t7 < M[kg]

if (t3 > t7) goto rfalse

goto loop(isa, jo, k2)

j1, 2, and j3 are no
longer needed.



is_sorted(A,n) : is_sorted (A, n) :

20 <0 10 < 0

Jo <0 ko «— A Q@ensures kg = A + 4 * 1

ko <+ A to+—n—1

tp <= n — 1 | goto loop(ig, ko)

gOtQ loop (%o, jo, ko) loop(i1, k1) : Qrequires k1 = A+ 4 x 14
loop(i1, 71, k1) ; if (i1 > to) goto rtrue

if (i1 > to) goto rtrue ts < Mlk]

tg%M[kl] 19 <11 +1

z'.g%i.l—l—l ko < Ky + 4 Qensures kg = A + 4 * 19

J2 <=1 +4 tr < Mlko]

ko < k1 +4 if (t3 > t7) goto rfalse

t7 < M|ks] goto loop(ig, k2)

if (t3 > t7) goto rfalse
goto loop(iz, j2, k2)

j1, )2, and j3 are no
longer needed.



is_sorted(A, n) :

10 < 0

]C() — A

to < n —1

goto loop(ig, ko)
|00p(i1, kl) :

if (i1 > tog) goto rtrue

lg < M[lﬁ]

19— 11+ 1

ko <+ k1 + 4

tr < M|ks]

if (t3 > t7) goto rfalse

goto loop(i9, k2)



is_sorted(A, n) :

10 < 0

]C() — A

to+—n—1

goto loop(7g, ko)
|00p(i1, kl) :

if (i1 > tg) goto rtrue

t3 < M[lﬁ]

19— 11+ 1

ko <+ k1 + 4

b7 — M[kQ]

if (t3 > t7) goto rfalse

goto loop(iz, k2)

1 > toiff A+4xi1 > A+4xt



is_sorted(A, n) : is_sorted(A,n) :

10 < 0 10 < O

ko < A ko +— A

to+<—n—1 to<—n—1

goto loop(7g, ko) goto loop(ig, ko)
loop(i1, k1) loop(i1, k1) :

if (i1 > tg) goto rtrue if (k1 > A+ 4xty) goto rtrue

t3 < M[]Cl] t3 < M[kl]

19— 11+ 1 19 <— 11 + 1

ko «— k1 +4 ko < k1 44

tr < Mlks] t7 < M ko]

if (t3 > t7) goto rfalse if (¢3 > t7) goto rfalse

goto loop(iz, k2) goto loop(iz, k2)

1 > toiff A+4xi1 > A+4xt



is_sorted(A, n) :

10 < 0

ko +— A

to<n—1

goto loop(ig, ko)
loop(i1, k1) :

if (k1 > A+ 4xtg) goto rtrue
1 M[lﬁ]

19 <11 + 1

ko < ki1 +4

t7 — M[kz]

if (t3 > t7) goto rfalse

goto loop(isg, ko)



is_sorted(A, n) :

10 < 0

ko +— A

to<n—1

goto loop(ig, ko)
loop(i1, k1) :

if (k1 > A+ 4xtg) goto rtrue

lg < M[k’l]

19 <11 + 1

ko < ki1 +4

t7 — M[kg]

if (t3 > t7) goto rfalse

goto loop(isg, ko)

10, i1, and I2 are no
longer needed.



is_sorted(A, n) : is_sorted(A,n) :

10 < 0 ko — A
ko +— A to<n—1
to+—n—1 tg < 4 * t
goto loop(ig, ko) tg <— A+ t3
|OOp(i1, ]Cl) : goto |OOp(k0)
if (k1 > A+ 4xtg) goto rtrue loop(k1) :
ts < Mki] if (k1 > tg) goto rtrue
io i1 + 1 ts < M k]
ko +— k1 + 4 ko < k1 +4
tr < M ko] t7 < M{k]

if (t3 > t7) goto rfalse

if (t3 > t7) goto rfalse
goto loop(k2)

goto loop(ig, k2)

10, i1, and I2 are no
longer needed.



is_sorted(A,n) : is_sorted(A4,n) :

10 < 0 ko — A
ko +— A to<n—1
to+—n—1 tg < 4 * t
goto loop(ig, ko) tg <— A+ t3
|OOp(i1, kl) : goto |OOp(k0)
if (k1 > A+ 4xtg) goto rtrue loop(k1) :
ts < Mki] if (k1 > tg) goto rtrue
io i1 + 1 ts < M k]
ko +— k1 + 4 ko < k1 +4
tr < M ko] t7 < M{k]

if (t3 > t7) goto rfalse

if (t3 > t7) goto rfalse
goto loop(k2)

goto loop(ig, k2)

Unrolling the loop
once can remove one
memory access per
iteration.

10, i1, and I2 are no
longer needed.



